
                                 Quiz 2 

                        09/24/2018 

A. Να παραγοντοποιήςετε τισ παραςτάςεισ: 

 

1.          2  x102  ψ50 –   100 α  x101 ψ51  +   114  β  x1000 ψ100
 

 

2.      α2 – 9 β2
 

 

3.     (κ - λ)11  α4 –   β4  (κ - λ)11
 

 

4.     x2 - ψ2  + 2x  +  1  -  20ψ  - 100 

 

5.     α2 +  2αβ  +  β2  –  α  -  β 

 

6.     (x – ψ)5  α2   –  2αβ  (x – ψ)5  +  (x – ψ)5  β2 
 

 

7.      x4  + x2 + 1 

 

B. Να υπολογίςετε τισ παραςτάςεισ χωρίσ τη βοήθεια 

υπολογιςτή 

 

1.       99992  +  2*9999  +  1 

 

2.     9012   +  901 * 99 

 

3.      1999 * 2001  +  1 

 

 


